Homework #17

Solve:

1.

X2+ 3Xx—-130=0

7X—9 =10X + 11

2x + 18

X+5=

10X = X2 — 39

(X —2)? =49

3(2 - X) = 4(1 + X)

9.

10.

12.

13.

14,

15.

8 —b2=2b

X+ 2 x—1

xX+5 X —2

31 =81

Make X the subject:

17. y=vVx2+6
18 >
' y_x—z

19. y="5x+3

20. y<2X+7

21, y=(X—-7)

22.

k+2 xX—a

24, Yy=X*+8Xx+ 16



Answers Homework #17

Solve:

1. X2+ 3Xx-130=0
x—-10)(x+13)=0
X=10orXx = -13

2. X2 = 9%
X2 —-9Xx =0
X(X=9)=0

X=0o0rx=9

3. 7X—9 =10X + 11

—-20 = 3X
x =720/3
m+ 3
4, =m+ 8
m+ 3=4m + 32
—-29 = 3m
m="2973
2x + 18
5. X+5-=
X

X2 + 5X =2X + 18
X2+3Xx—-18=0
X+6)X—-3)=0

X=-6o0rX=23

6. 10x =x%- 39
0 =x%-10x - 39
0 =(X—13)(X + 3)
X=13 orX = -3

7. (xX-=2)2=
X2—-4x-45=0
(X=9)(X+5)=0
X=9orXx=-5

49

8. 3(2-X)=4(1+X)
6 — 3X = 4 + 4X
2 = 7X

X =2/7

10.

11.

12.

13.

16.

Make X the subject:

X2+ 4X + 3 =48
X2+4X—-45=0
xX-5x+9)=0
X=5o0rx=-9
4=\2-t

42 =2 -t
t=-14

19.

X2 — 7X =18
(X—-9)(X+2)=0

X=9o0orx=-2

8 —b2=2b
0=b2+2b-8
0=(b-2)b +4)
b=2orb=-4

21.

3 4
xX+2

3X -3 =4X+ 8

x—1

-11 =X

23.

1-k k-1

k2 —k =5 -5k
k?+4k -5=0
(k + 5)(k — 1) =
k=-5erk=1

o

3*+1 =81
X+1=4 as3*=281

X=3

17.

18.

20.

22.

24.

y=vx?+6
y2=X*+6
y2_6=X2
X==x/y2—-6
5
Y= 12
(X-2)y=5
X = —+2
y
y="5Xx+3
y — 3 = -5X
-y+3 3-y
X = (:
5 5
y<2X+7
y—7<2X
X = y—7
2
y=(x-7y
tfy =x-7
X==%y +7
1 t
k+2 xX—a

x—a=tk+2)
x=tkk+2)-a

T
y=J%
5 A
y ="
» A
X'-y2

T
X = —

y

y =X+ 8X+ 16

F & %
2y =X+4
X=2y—4



